2.2.11 Tracer dans le méme systéme d’axes les graphes des fonctions suivantes : 1 2\4 0‘ 79

fl(x) =T, fﬁ(x) = ; f.'i(x) = 5 s fxi{x) =g ; f5(f£) =z’
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2.2.15 Tracer le graphe des fonctions suivantes :

a) f(z)=lz] =2, g(z) = |z| +1, h(z) = |z - 3|, k(z) = |z + 1] et [(z) = —|z] +1
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&) f(z)=1In(z - 1), g(z) = 2In(g), h(z) = In (1) et k(z) = |In(z)
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2.2.16 Tracer le graphe des fonctions suivantes :

(&
0) f@)=1-2" ; )= b-X D fa)=latal=2l+]
o) f() = lo? - 20| — 1 d) f@)=lo—1]+|z+2]
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c) flz)= |z —2z[ -1
—
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